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1. lRFE%1To1-HE FErE30E8H22H (% 41[@) . EHARAMBREMEE
() [TRE®
1&H 2% #H. 3FFL
L mw b R® | B0 | S0 K8 AR it HEA R4 sia | wwem DL
Bl | HEBEREEREST fERT =4 AFL{HE A KL+
(34,039) . FELARH (R s B Al 7
1 | FEIR (=W 6.00 (66 4 1 2.693 330,005 356,405 | EHxREFHZT R AR
122,542 302,000 298,200
(30,849) _ R B R BAE/NDX 5
2 | FEIR (=N 6.00(58 4 1 2.089 232,000 250,560 | EHRERFTIES | LR
111,058 231,300 161,100
(30,763) _ LAEES I 2
3 | TFHER e 6.00 (60 4 1 2.233 247,300 267,084 | EWEE T B2 BT
110,748 175,000
(34,295) LR E A S AR IE 6
4 | TFHEIR (=N 6.00|44 4 1 1.215 150,005 162,005 | EHZEEFH™ TR
123,461 147,000 136,900
(30,764) _ R A LR 6
5 | TFELR (=AY 6.00 (62 4 1 2.381 263,700 284,796 | B IEILETH T BA R
110,752 225,005 202,000
. . (15,348) EXE=FHELS 1
6 | TFELR [=AN 6.00|50 E2:L) 1 1.561 55253 86,250 93,150 ;T = B @\E YR
(13,840) _ 1
7 | TEIR e/ 2.10|62 - 66|4 2 1.722 49,826 85,800 92664 | EHZEEFEHZT BEARME
(25,268) _ EBRAMEG AL ARH 6
8 | THEIR e 2.10(60 - 664 2 1.671 152,000 164,160 | XA R EER T M=8KAE)
90,963 125,005 101,000
12,183 = B ARG AL R%
9 | TFER (=N 2.00(50 - 54| 4 2 1.083 ( ) 47,500 51,300 E;ﬁ%ﬁtgﬁxrﬁﬁ AEARMIE 3
43,860 44,800 44,600
(14377 o LA RSAMIE 4
10 | FEIR (=AY 2.00|54 - 58| 4 2 1.256 65,005 70,205 | EHREFHT ERRAME
51,756 60,100 54,500
(15,412) e RALKRH LabR#t 5
11 | FER (=AY 2.00(58 - 62| 4 2 1.442 80,005 86,405 | E R IE T HT ZERE AR
55,482 73,000 69,600
(12,607) B ARMEH BAERMIZE
12 | FEIR (=AY 2.00|54 - 58| 4 2 1.256 57,005 61,565 | HHREFHT =R 3
45,386 54,800 54,500
(38,335) 1
13 | FEIR (=N 4.00(50 3Lt 1 1.000 135,005 138,005 149,045 | EHEEFH™ ERAME
(37,501) M=8aKHE) PRy 7 N 7
14 | FHEIR (=AY 4.00(50 3F 1 1,000 135,005 145,805 | EHZREEHT TR
135,005 132,000 123,900




1&H 2% #H. 3FFL
L mw b R® | B0 | S0 K8 AR it HEA R4 sia | wwem DL
Bl | HEBEREEREST fERT =4 AFL{HE A KL+
(18,613)
15 | FEIR (=AY 4.00(50 3F 1 1.000 67,005 67,005 72,365 | EHREBEHT ERRAME !
(18,613) " 1
16 | FEIR (=AY 4.00|50 3F 1 1.000 67005 67,005 72,365 | B R E T HT ERE AR
(12,779) 1
17 | FEIR (=N 4.00(50 L EIM 1 1,000 46,005 46,005 49685 | EHREFHT =R R
(19,060) 1
18 | FHEIR (=AY 4.00|54 3F 1 1.166 68615 80,005 86,405 | EHZEEHZT TR
19 |[FER  |EN 4.00{50 3F 1 1.000 0
(37,740) 1
20 | TFELR e/ 400|52 3k 1 1.082 135.864 147,005 158,765 | EHZRE T HZ™ B
(44,446) INERME R & A TE
21 | FELR e/ 4.00|50 3k 1 1.000 160,005 172,805 | EHZRETHZ™ B 8
160,005 159,100 153,900
(18,613) " 1
22 | FHEIR (=N 4.00(50 3F 1 1.000 67,005 67,005 72,365 | EHEEFHT =R R
(15,557) 1
23 | FHER (= 4.00(50 4 1 1.000 56.005 56,005 60,485 | EHZEEHZT TR
(40,025) . 1
24 | TFHEIR EN 4.00 |46 3kt 1 0.846 144080 121,900 131,652 | IR BIFEH AT & ERARIE
(45,494) ESWAW N i e RIS #aARIE 3
25 | TFELR e/ 400|48 3k 1 0.922 151,005 163,085 | EHZRETHZ™ ERRAM
163,780 139,900 131,900
(44,328) EIWAW N o i e R &K E
26 | FEIR (=N 4.00 |46 3Lt 1 0.846 135,005 145,805 | EHZEFHT ERAME 3
159,580 131,900 128,900
(44,017) R & 8RS TE R ) 3
27 | TFER e/ 4.00 |48 3Lt 1 0.922 146,100 157,788 | EHFEHFH™H INER )
158,460 131,900 130,005
(46,700) INE AR08 PRy 7 N 4
28 | FER (=AY 4.00|48 3Lt 1 0.922 155,005 167,405 | EHZEEFH™ TR
168,118 146,100 141,900




1&H 2% #H. 3FFL
L mw b R® | B0 | S0 K8 AR it HEA R4 sia | wwem DL
Bl | HEBEREEREST fERT =4 AFL{HE A KL+
(45,161) % o INEAR ) A &R ARE
20 |FER  |EN 400/48 |3 1| 0922 149.900| 161,892 %*DE‘HJRMD HLNKH TS 8
162,581 146,100 131,900
(44,017) A & BRARIE 2
30 | TFEER EN 4.00|48 3t 1 0.922 146,100 157,788 | EHFEHFHT IMERHE
158,460 123,900
21,858 trE—m
31 | FEIR (=N 4.00|48 3F 1 0.922 ( ) 72,550 78,354 ELENaE LUE B@E/N\HX !
78,688 )
(25,880) 1
32 |TFHEIR (=AY 4.00|48 3F 1 0.922 05,167 85,900 92,772 | I R IR I BT A& ARIE
(46,700) . R &8RS =808 6
33 | TFEIR EN 4.00(48 3Lt 1 0.922 155,005 167,405 | EHFEFH™ B AR
168,118 146,900 143,000
. (43,702) A &8RS ERRAM 4
34 | THEER EN 4.00 |46 3t 1 0.846 133,100 143,748 | EHEHFHT INERH )
157,329 131,900 120,005
(19,277) [P
35 |FER  |E 400l46  [3F 1| osas| — ° 1 se7i0| 63406 E,Tm%_;:g[smgu wEAY R 1
(8,941) = BERE®
36 |iB/B% A 2.10|44 4 1 0.407 13,100 14,148 E.Tﬁl,%t:ltzrsi:lt LdeR# 2
32,187 12,800
(12,222) = B ARG
37 |i5/R% (= 2.10|50 4 1 0.525 23,100 24,948 E;‘;%J::{tgfii:it LAt R# 2
44,000 22,800
(21,227) e 1
38 | TFER (=AY 4.00(30 - 44|3 Lt 12 7.590 6417 580,005 626,405 | EHZREFHZT R AR
(5,747) _ 1
39 |ER EN 4.00|13 - 28|32 80| 13.050 20,690 270,000 291,600 | EHZREFHZM AR
(10,343) _ , _ 1
40 |FR (=N 4.00(30 - 42|3F 12 5.192 57236 193,330 208,796 | EHZRBEEFTIIET | (B) KIEEMFT
(8,505) _ ; _ | BEAME 2
4 | FR (=N 3.00[14 - 34|3TF.4 4 0.761 23,300 25164 | EFERFNIES | (&) KIEEMPT
30,618 16,000
3F.3 (3,718) x 1
628 |&Eh E/N 40018 - 28/ 120| 25.402 13385 340,000 367,200 | HEHZFEFHM EfH AR




1EA4L 2% #H. 3FH
L mw b R® | B0 | S0 K8 AR it HEA R4 sia | wwem DL
Bl | HEBEREEREST fERT =4 AFL{HE A FL 1+
629 | & £ 400|18 - 28 §FJ:‘ 3| 138| 29.960 0
632 | & e/ 1.90(14 - 32 §FL213 298| 22.637 0
635 | £ 40016 - 28 §FJ:~ 3| 118| 26.002 0
(7,318)
637 |&th E/N 400|128 - 44|3T.4| 66 31.126 26345 820,000 885,600 | BHRERATIIET | A+ EZE) S
638 |@ e 190[14 - 28 %”;L 3| 343 26247 0
c . _ 3F.3 (3,924) I p— x 1
639 |5&TH (=AY 4.00(18 - 28| 132|  29.024 14126 410,000 442,800 | FEFREBRFAIIET |FELAHEH
644 | EsN 400|16 - 28 §FL~ 3| 122| 28004 0
E _ 3E.3 (1,753) =g X 1
648 |5EH e/ 1.90(14 - 28| ¢ 319| 25.359 6.300 159,990| 172,789 | FHZESHT B HARH
|3k, (3,995) — o
649 |&th E/N 400|18 - 28| 121|  27.462 14384 395,000 426,600 | EFRERFTIIET | LR
_ 3L.3 (1,458) g X 1
651 |&h (=AY 1.90(14 - 28| 189 15.425 5051 80,990 87,469 | EHFEFHM B AR08
(8,810) AFEZEH
654 | XH e 400(16 - 50|3TF. 4 9 3.878 123,000 132,840 | EHFBREAIIERT | BSEHMFR = 2
31,717 60,000
801 | 48 e 19012 - 142, 3F| 14 0.498 0
802 | F4E e 2.10/30 - 56|3F 6 1.914 0
803 | F4E EN 1.90{30 - 44|3F 7 1.702 0




1&H 2% #H. 3FFL
)\ﬂ' Eih  BMiE B | B | F5h (K| #ME AR ST 4% BEZA E-gaka F-gak B Bl i AL
&S - ]
Bl | HEBEREEREST fERT =4 AFL{HE A KL+
(1,740) IEFEMRT (BRTEE
804 | T4E (=AY 1.90(0 Rt 0| 22.160 138,800 149,904 | FEZEAFIIERT | KATEZEH " 8
6,264 122,000 68,700
(969) _ BRTHME 2
805 | 48 (=AY 1.90(0 [RA 4T 0| 14328 50,000 54,000 | HEHZBREMIIERT | KM EZE
3,490 44,500
. (942) _ (BRTE A 2
806 | 48 (=N 1.90(0 [RA 41 0| 23814 80,800 87,264 | EHRERAIIET | AHEXR
3,393 73,900
(861) - .
807 | 48 (= 1.90(0 R 0| 15.058 5101 46,700 50,436 g’ﬁﬂaﬁigﬁw’ﬁ* (B)RTEMZE 1
(5,557) _ 1
808 |FEE [=A 1.90|30 - 54| 4 26 6.188 20,006 123,800 133,704 | EZFEREFIIES | KA EXEH
(7,249) F &5 B R0
809 | F4E EN 21026 - 48|33 T | 82| 23872 623,000 672,840 | EHxREFHTH TR ST AHERE 5 3
. 26,098 528,800 405,990
810 | T48 £ 1.90(16 - 283 F 65| 5626 0
811 | T8 (=AY 2.10|16 - 28|3F 38 4.099 0
(900) - .
812 |48 (= 1.90(0 R 0 2.223 2239 7,200 7,776 g’ﬁﬂaﬁigﬁw’ﬁ* (B)RTEMZE 1
(4,519) h E &M AT
813 | 48 P2 400|14-30|3TF.4| 22 4.352 70,800 76,464 | EFBERFFIIET | AT EZEAH) = 2
16,268 69,000
(10,711) _ 1
814 |28 EN 400(32 - 54(4 16| 10.892 38,560 420,000 453,600 | EHRERFTIET | RHEZEE)
(877) _ 1
1001 | FEHIR e 2.10|10 - 46| JE#I4F| 114 13.624 2155 43,000 46,440 | EFBEL O (LK B AR
(9,651) FLARH E AHEER
1002 | FEHIR e 2.10/30 - 56|3. 4 69| 21501 747,005 806,765 | EHZEF AT ERAMEH = = 3
34,743 737,000 598,800
(6,582) A EZEE)
1003 | FEAIR (=AY 2.10/30 - 48|3. 4 60| 18.147 430,005 464,405 | EHZEFHZT TR = 2
23,696 419,800
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L mw b R® | B0 | S0 K8 AR it HEA R4 sia | wwem DL
Bl | HEBEREEREST fERT =4 AFL{HE A KL+
(1,144)
1004 | FEHR EN 2.10{12 - 50| #4441 | 90| 13.797 117 56,800 61,344 | FEHZRBAMIIET | AFEZE 1
(2,567) = AMEXH
1005 | FEHIR (=N 21010 - 46| JR#H4F| 116 14.476 133,800 144,504 %ﬁgﬁtgmﬁﬁ EpANEY g = 2
9,243 i 47,800
1006 | FER e 2.10(20 - 28 §FJ:~3 146| 18033 0
(11,551) LR E 2
1007 | FEAIR (=AY 4.00(30 - 44|3F 26| 15270 635,005 685,805 | EHZEFHZT TR
41585 617,000
. . 3F.3 (5,074) 1
1008 | FEIR (=AY 400(18 - 28| =—° 71| 17.244 18267 314,990 340,189 | EHZEFHZT B R 05
(10,999) _ 1
1009 | FEHR EN 400(30 - 48|3F 40| 22.300 20,596 883,000 953,640 | HEHZREEFTIIET |FLAKRHE
. (4,139) _ _ HEILAH B R4t 4
1010 | FER [aAN 400(14-28|3F 191|  30.604 456,000 492,480 | EHRERFRIIET | BRHET
14,900 448,000 443,990
(4,379)
&&t 3325| 682.383 10,756,445| 11,616,950
15,763
%4 362863 m’ 532 % A% 319520’ 468 %




